M (210x297)

LMT [(0,0) (196,286)]

‘ REV. 04 DTD 27/01/2016 FILE = 3784.DWG

La CEDASPE S.p.A. si riserva a termini di legge la proprietd del presente disegno con divieto di riprodurlo o comunicarlo a terzi senza sua'autorizzazione.

3. 1EN

Esec. T1

h

Esec. EL | Esec. A1

i)
1) 40
7 M20
g P D
11 !
=2
é/ |
torque @/ 7
30Nm {_
Pos. Description
@_/_ | 5 1 Porcelain
T 2 Brass bolt "D”
I 2] 3 Brass cap "E’
( )7‘ : 4 Ring gasket "I”
m 5 Internal gasket
d5 I 6 Flange gasket "N”
ﬁghtening har 7 Brass nuts M20 DIN 934
orque e
15Nm 8 Brass washer 621 DIN 125
@\ C——— m 9 Mild steel zinkplated nut M10
d4 M10 10 Mild steel zinkplated washer $10.5
1 Spring washer ¢21 DIN 127
@\1\ H Fh 13 Fixing ring "B" DIN 42531
<§—s§ 14 | Alluminium clamping piece "E" DIN 42538
| s - 1—\01/ 15 | Fixing stud M10x55 (not supplied)
n" 6 fixing studs steel 16 ¢ Rigid copper rod
M10x55 (not supplied with the kit) 39 17 Insulating tube C.B.
Bolt circle 140 mm # 18 * Brass locknut M20 DIN 936
s 30-31 Vent screw
C T3 | * supplied only for Esec. Tl (on request)
'/ :
19
_Ma_
875
¢904_r% Arcing horns upon request
) PF Porcelain L4 |15 |16 |d4| d5(L1 (L7 |18 |G.W.| Z i ; i
Bushing Voth\?ge Cur;ent 1 IQI\? Crapage | drcing | maz|mas{min masimas nas nasfmaz | o Pollultwn level"and "mﬁﬁ"mmﬂ”
kV distance | distance | 7P mm mm | mm| mm|mem|mm |mm [mm | A9 |sheds
12-630/P3| 12 30| 75 315 190 | 6 1235/350] 90|80 [ 155(503| 83| 153 7.0| 2 1921 240 | 300 | ===
24-630/P2 ===| === | === 372
ey | 2 630 | 55 125 | 490 | 285 | 7|325440] 90|85 | 1701593 83 |153| 95| 3 YRR . -
_ ===| === | 600 | 744
36-630/P2 170 | 760 | 375 | 8 |423|540(100|85 |180|693| 83 [153]130] 5
(24-630/P4) 36 77 576 [ 720 | === |===
36-630/P4 200 | 1155 475 | 9 |515/630| 100] 85 | 210| 850( 150/ 220[ 18.0 7 || ===| === | 900 | 1116
THE FIGURE SHOWS THE BUSHING 24/630 P2 (1:4 SCALE)
Titolo Data 11/03/13 :
Outdoor transformer Scal /1 5/ Dis. Nr
bushing EN 50180 caa L 8784
m Rated voltage 12—24—36KkV |Dis.
e Rated current 630A Visto I |2 | 3 | 4| |




